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General Instructions :
(i) Please read the instructions carefully.

(ii) This question paper consists of 24 questions in two Sections : Section A and
Section B.

(iii)  Section A has Objective type questions whereas Section B contains Subjective
type questions.

iv ut of the given + = questions, a candidate has to answer
(iv)  Out of the gi (6 18) 24 ] didate h
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

) All questions of a particular section must be attempted in the correct order.

(vi)  Section A : Objective Type Questions (30 marks) :
(a) This section has 6 questions.
(b) There is no negative marking.
(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

(vii)  Section B : Subjective Type Questions (30 marks) :
(a) This section has 18 questions.
(b) A candidate has to do 11 questions.
(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)
1.  Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

(1) Which of the following is not a step of active listening ?

(A) Contact

(B) Absorb
(C) Confirm
(D) Relate
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(ii)

(iii)
(iv)

)

(vi)
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is characterized by a pattern of persistent disregard for and

violation of the rights of others.
(A) Antisocial

(B) Paranoid

(C) Dependent

(D) Avoidant

Give the full form of OCPD.

To select Cut option from the Edit Menu, which shortcut key is pressed ?

(A) Ctrl+X
(B) Ctrl+V
(C) Ctl+A
(D) Ctrl+Z

“An entrepreneur is never disheartened by failures and keeps trying,
adapting and iterating to overcome obstacles that come in the way of

achieving the goals”. Identify this quality of an entrepreneur.
(A) Planning

(B) Persistence

(C) Monitoring

(D) Welfare

UNEP stands for

(A) United Nations Environment Programme

(B)  United Nations Educational Programme

(C)  United Nations Entrepreneur Programme

(D)  United Nations Exclusive Programme
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2. Answer any 5 out of the given 7 questions. SxI=5
(1) The next generation store is clearly dependent on a robust, flexible and
enabling infrastructure.
(A) huge (B)  costly
(©) IT (D)  decorative

(i)  Give the full form of BEV.
(i11))  The is where the customer comes to pay for his/her purchase.
(iv) In concept, an individual not necessarily contracted by the
vendor, performs the delivery of goods to the destination.
(A) crowd delivery
(B) retail delivery
(C) product delivery
(D) purchase delivery
(v)  Which of the following supervisor oversees the day-to-day operations of
dining facilities ?
(A) Front Desk (B) Inventory
(C) Food & Beverage (D) Hospitality
(vi)  Which of the following is the function of Management of Sales Personnel ?
(A) Recruitment and Selection
(B) Managing inventory
(C) Marketing
(D) Safety and security

(vi) The ability to lead by example and be a role model for others is called

(A) strategy (B) credibility
(C) inspiration (D) people development
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3.  Answer any 6 out of the given 7 questions. 6x1=6

(1) Which one of the following is not a feature of online retailing ?

(A) 24-hours availability (B) Global reach

(C) Efficient customer service (D) Location

(i)  Consumer finds a product of interest on the Internet by visiting the

of the retailer directly or by searching.

(1) The customer/consumer often receives a/an confirmation once

the transaction is complete.
(A) e-mail (B) company
(C) price (D) card
(iv)  Which one of the following is the feature of shopping cart ?
(A) Product management (B) SSL security

(C) Address book (D) Daily backups

(v)  Which of the following is not a ‘C’ of e-marketing ?

(A) Content (B) Concentration

(C) Commerce (D) Concrete
(vi)  Give the full form of CRM.

(vii)  What is the key requirement that must be met by modern ‘Point of Sale’
system ?
(A) Good looks
(B) Camera installation
(C) High and consistent operating speed
(D) Flexibility
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4.  Answer any 5 out of the given 6 questions. SxI=5

(i)

(ii)

(iii)

(iv)
v)

(vi)

325/S

component of ‘Point of Sale’ is used to hold money collected

for goods and services.

(A)
(B)
©
(D)

The

Cash drawer
Barcode scanner
Printer

Back office server

is the screen where sales staff views information as a

transaction is in progress.

Point of Sale marketing often results in purchases.
(A) costly

(B) heavy

(C) impulsive

(D) daily

or enticing discounts and offers often accompany POS displays.

scanner enables salespersons to scan items that are too heavy

to be lifted to a counter.

SKU stands for :

(A) Stock Keeping Unit
(B) Sales Keeping Unit
(C)  Security Keeping Unit
(D) Smart Keeping Unit
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5.  Answer any 5 out of the given 6 questions. SxI=5
(1) Items can also be bundled as a item like gift pack.
(A) FIT (B) KIT
(C) HIT (D) LIFT

(i)  The most important factor of customer satisfaction is
(A) billing accuracy
(B) price accuracy
(C) quantity accuracy
(D) security accuracy
(i)  Define Accounting.
(iv)  The accounts relating to the names of individuals, firms, companies, banks
etc. are called
(A) Personal accounts
(B) Real accounts
(C) Nominal accounts

(D) Unreal accounts

v) Which of the following is not an external user of accounting information ?
(A) Public (B) Investors

(C) Creditors (D)  Employees

(vi)  The book of daily record is also called
(A) Regular book (B) Record book

(C) Journal (D) Data book
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6.  Answer any 5 out of the given 6 questions. Sx1=5

(1) When scanning SKUs the system recognizes the and prepares
the sale for it.

(A) place (B)  quantity
(C) price (D) date
(i1))  Write the full form of MRP.

(i)  The method which does not require daily monitoring of inventory is called

(A) Point of sale
(B) Perpetual
(C) Periodic

(D) Food inventory

(iv)  All foods have optimal conditions that must be met to sustain
usability.
(A) Storage (B)  Good
(C) Effective (D) Bad
(v) sheets are useful when performing narrow spot inventories.
(A) Count

(B) Vertical
(C) Horizontal

(D) Plain

(vi) A well planned and organized count is the basis of determining and

analyzing
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SECTION B
(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given 5 questions on Employability Skills. Answer each question

in 20 — 30 words. 3Ix2=6
7.  How does active listening help to identify and solve problems ?

8.  Define Personality.

9.  What is the use of sort data in Calc ?

10. How can an entrepreneur overcome the fear of failure ?

11. List any four advantages of Green jobs.

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3Ix2=6
12. Explain the elements of effective visual merchandising.

13. Write the use of Barcode Scanner.

14. What do you understand by ‘check out’ at ‘Point of Sale’.

15. Define intangible assets.

16. How can food inventory control be done in inventory handling ?
Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6
17. State any three important features of an E-shop.

18. The importance of marketing on the Internet is increasing for the company. In fact,

online marketing has become an important focus for most companies as they look
to reach customers and increase sales. In the light of this statement, state any three

disadvantages of E-marketing.

19. Explain the steps in the ‘Point of Sale’ process.
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Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. What is meant by customer-centric ? Explain any two strategies for being

customer-centric.

21. Monitors are essential components of ‘Point of Sale’. Do you agree ? Give reasons

in support of your answer.

22. Accounting is useful to the management as well as to other users. In the light of this

statement explain any four functions of accounting.
23. Explain the Cash basis system of Accounting.

24. The owner of Agarwal Bakers, dealing in bakery products, is facing the problem
related to the stock left at the end of the day that expires soon because bakery

products are perishable in nature.

Suggest the method that should be used by Mr. Agarwal to solve his problem.
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